olJ
RS
JJ
——
fife)

qr

T
-
5
~u
yA

ojn

5

24(Q)
B2

oF

:

@ 4

® -2

Do

o

o]t

4
)

— 928 Alolnz




s S 825 2o &2 4

o

BT TEW?

@D 2.0333---=2.03 @0.3212121 <= 0.321
3 1.231231---=1.23 @3.015015 =3.015
G —0.340340--- = —0.34

ult]= 3 0|2 20333 .- = 2.03
nit] = 231 o] B2 1.231231--- = 1.231
nht] = 340 0] B2 —0.340340 - - - = —0.340







4. ohe FAA oA B Fofe,

@ 2x+x*-3
32 1

© - +-+4
1,5 1

© ¥ +3x+ 7

® 5(x*+1)
® 2(a2+3a) - (2a2—a)

it

i

0
L
@)

v VvV VvV v v Y
0
i
)

0
L
@

#33}0] o] A4:7} 2 <l ThapAle] ol Ao] B
9.©.@




5.

(24 3x)(-2x) & FHo] stla o, »2 9 A=

@6 @-1 G0 @ 1

?

2 X (=2x) + 3x X (=2x) = —4x — 6x2
webA] 12 o] A —golch




i

o
=

do7k16 9 #o B o

6.

A
al

o2 tehfolet,

ki

xof &

=
=

J

o7t EOBR x+x+y=16 =

=
2x +y = 16 °|t}.
[e]




1
+b
3

2_

+a
1

—gaz b

1
3

2
@

® -a+3>-b+3

(@)a—32b—3
@Sa—lzi’)b—l




8. —1<3x+2<5¢u, x 2 gl HHE?

1
D 0o<x<1 @ -1<x<2 ®§<x<1

@)-1<x<1 ® 1<x<?2

-1<3x+2<5
-1-2<3x<5-2
-3<3x<3
L-l<x<1




& 44 vERE o, 100 A AHe o]

@1 @ 3 @)+ @ 5 ® 6

1—73 = 0.538461538461 - -- = 0.538461 0| 22 £=Fhujr] o] 52}
67H

100 = 6 X 16 + 4°] B2 A5F ol 100 A 2} o] 2= 4
ojtt.




10. thg 2719 58 2 S5E A e 27

H7]
@ 0.154 © 0.i54
® 0.154 ® 0.154

DE@-0-0-0 08->0->06->0
@@->©->0-0 @®0-0-50- 0
®De-e->0-06

B

& 0.154

© 0.154 = 0.154154 - - -

© 0.154 = 0.15454 - - -

® 0.154 = 0.15444 - - -
SJEE ©>@>0>@°lth




11.

v

243 okl 0 o] of

<

Tod
oF
il
&0

A

¢

ol
ol
ul
)

<

ol
e

il
0

%%ﬂ}
__0.._ 5
4 HY o
ﬂwl%

a3 ofefiofl 0 o] of




12.

By x a2yt =00 A [ [oke] gre 4

©9

®112 @85 @9 @5

i

Ao =

r

® 11,7

A

KOy X x2y8 = X236 — x7y9 o)},




13. ¥ xy'xx?xy> =x1% A o a+b 9 & Fotoizt
=
H -

>
l> o= 9

oH =

B

(_i_/g') :x4+bxya+5
= x10y8
44+b=10, b=6
a+5=8,a=3
a+b=9




03 x
272
+ 3!
=30

i
K0

38

(3%)°

x (3%)2
+34 =

3646

4




15. 5% 45" 4 5 4 5% 4+ 552 7F5] e H?

@5x+1 @ 55x @ 25% @ 5x+2 @ 5x+3

B = e




16

(F4]

2]

o

_24+3><(

G o

22+3)X24)2
:26 24 _2626
0_26_26




x 3y T \z

9 934
® = @)-2°

X X

27 3
@ 2 @_¥

Z X

2 34,6 2 2 3.4

(@)= -k Lo 2

X2 3y x?y? X




18.

X

1 1
gx?_zx—lo+3x= 5x2+x—10




19. A=x-y,B=-2x+3y2 ™, 24-{B+3(A-B)} & x, yoll &3t
402 e, ax + byolch, ol a + b9] 27

D1 (@)2 ® 3 @ 4 ® 5

B ~

A=x-y, B=-2x+3y<

2] 24 — (B + 3(A - B)} °ll i ¥4st#
2A-{B+3(A-B)}
=2A-B-3A+3B

=-A+2B
=—(x—-y)+2(-2x+ 3y)
=-bx+ Ty

a=-5b="7
“a+b=(-5)+T7=2




20. 4x+1ly+17=9x+10y+15 W x—y+2 S x o TH o7
e Y

D x+1 @ -2x+2 ® -3x+3
@—4x+4 ® —-5x+5

4x+11y4+17 = 9x+10y+15 £ y of] Tt A 2StH y = 5x-2
o|t}.
x—-y+2=x—-(5x-2)+2=-4x+4




